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QUESTION 1

Which interface is used to view and change the logical structure of a storage system? (Choose the best answer.) 

A. VI 

B. Ldisk 

C. EMW 

D. Disk Manager 

E. AMW 

Correct Answer: E 

 

QUESTION 2

What does the storage system use to preserve cache data in the event of a complete controller failure? (Choose the
best answer.) 

A. Cache mirroring 

B. Flash read cache 

C. Pre-fetch caching 

D. Read caching 

E. Write caching 

Correct Answer: A 

 

QUESTION 3

All non-I/O related activity on the storage system is recorded in the _____________. (Choose the best answer.) 

A. Storage Array Profile 

B. Event Log 

C. DACstore 

D. Cache backup device 

E. NVSRAM 

Correct Answer: C 
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QUESTION 4

What happens if you choose one disk that has a capacity of 300 GB and five others that have a capacity of 900 GB for a
volume group? (Choose the best answer.) 

A. All disks are recognized as 900 GB in capacity. 

B. All disks are recognized as 300 GB in capacity. 

C. Each disk is recognized as its particular capacity. 

D. Mixing disk capacities is not supported in E-Series volume groups. 

Correct Answer: C 

 

QUESTION 5

What is SMutil? (Choose the best answer.) 

A. a host I/O performance modeling interface 

B. a GUI or CLI run on a host server used for storage system management 

C. inter-process communication that supports computer program subroutines 

D. an OS-dependent collection of utilities for servers attached to SANtricity-managed storage systems 

E. a host server process that enables storage system management with the storage data path 

Correct Answer: D 
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